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Uout = Uz-Ube 5V

Transistor:

Ptot = 0.5W
B = 300

Uce = 4V
ICmax = Ptot/Uce = 0,125A
IBmax = ICmax/R = 400pA

Lastwiderstand:
Rmin = Uout/Icmax = 40 Ohm

Zenerdiode:

Ptot = 0,5W

Imin = 5mA

Imax = Ptot/Uz = 100mA
Iz = 6mA

R1:

R1 = (Vcc - Uz)/Iz =560 Ohm

Transistoreigenschaften

b * B

Ib. Q?
2 Q_NPN_EBC

Stromstabilisierung

LED:

Uled = 2.2V

lled = 15mA

Transistor:

Ptot = 0,5W

B = 300

lc = Iled = 15mA

Uce = VCC — Uled - Ur2 =
b = Ic/R =

R2:

Ur2 = Uz - Uce
R2 = Ur2 / lled
Pr2 = Ur2 * Ir2

Zenerdiode:

Ptot = 0,5W

Imin = 5mA

Imax = Ptot/Uz = 100mA
Iz = 6mA

R1:

R1 = (Vcc - Uz)/Iz =560 Ohm

Elektronik fiir Anfanger Teil 22

Sheet: /
File: E=Kurs—2016_22.sch
Title:
Size: Al | Date: Rev:
KiCad E.D.A. kicad 4.0.2-stable Id: 1/1
[ 2 [

[ I 5 I




